©2022 Yoshihiro Sato All rights reserved



IZISEIO)EBEE

1. AOVYRYZ
« 3DDE = LR

2. TvITDBK
ﬁEﬁEé‘L—:IZUA

3. EXEICBEZAATESD O34
EDOIEHHB AN

4. A1 HETH. HH O34
W EYTDFIE




I1 LAOYVERY 221

c0~9990E B Z=HEUEIXIZCRA
100D ZZEXT. 10D ZEX2. 1D ZEX3ICA
e X1,X2,X3%F=m




1. AO0VY2I T

ETRICKDTIHIT D&EVET
//(FE) & %BERY)ZEFED

- . 0~900MEIERLELTHEXIRA
import random . 100DMETHX1, 10DEEX2, 1DMEXIITAA
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import random
X=random. randint (0, 999)

x1=X//100 #100 TEl| > f=FF
x2=(X//10)%10 #10TEI->7-FEZ10TE|> =R
x3=X%10 #10TE|>T=5r Y

print (x1, x2, x3)



import random
D A=int(input(0: 55— 1:F 3% 22\—%AH"))
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import random
s A=int(input (0: 5 — 1:F 3% 2:/85—%AH"))
_\7 Jb- Jd)ﬂ%ﬂa B=random. randint (O 2)
hantei=[' 02", BB, Bl ]

te=[ — ' Fax, 15— ]
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import random

A=int(input(0: 45— 1:F3x 2. /8\—%Ah))
B=random. randint (0, 2)

hantei=[ BN, BEL', Bl ]

te=[ o —", " Fax",  N—"]

print (hantei [ (B-A+3) %3])
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flag=False
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A=input ()
print (str. isdigit(A))
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flag=True
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flag=True ,
while flag: e
A=input ( 2HTDHEZ AL T IZSLY) <%
it str.isdigit(A):
if int(A)<10 or int(A)>99: ROy
print(A," TI R 2ITIEHY FHA £ —EFEAHNLTLIZSLY)
else:
print(A,” TFTRAAHYMNES ZXNVET)
flag=False
else:

print( MIETHEHYFEA LO2—EAALTLIZSLY)
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max=99
min=10
atari=False
cnt=0
while atari==False:
Qnum=int ((max+min) /2)
print( HAE=MNEZ=-8IL",Qnum,’ TTH')
Ans=int (input ( 0: (kLY 1:RETFULY 2:/phELy TEHEZFLTLLCESL D))
cht=cnt+1
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max=99
min=10
atari=False
cnt=0
while atari==False:
Qnum=int ((max+min) /2)
print ( A T=HMEZ =%, Qnum,’ ’C'd‘#’a)
Ans=int (input C 0: 1%Ly 1: j(%l,\ 2 IhELY THERIELTLESIWN))
cnt=cnt+1
IT Ans==
atari=True
el 1T Ans==
min=Qnum
else:
max=Qnum

print(Qnum,” TLFf= ',ont, ETHEYELTE)



